> >HCL SYSTEM SOFTWARE PAPER: 60 qs; 90 min. (4 sections) > >****************************** > > section 1. > >1.which of the following involves context switch, > >a) system call b)priviliged instruction > >c)floating poitnt exception > >d)all the above > >e)none of the above > >ans: a > > > >2.In OSI, terminal emulation is done in > >a)semion b)appl.. c)presenta... d)transport > >ans: b > > > >3....... 25MHz processor , what is the time taken by the instruction which needs 3 clock cycles, > >a)120 nano secs b)120 micro secs > >c)75 nano secs d)75 micro secs > > > > > >4. For 1 MBmemory no of address lines required, > >a)11 b)16 c)22 d) 24 > >ans: 16 > > > >5. Semafore is used for > >a) synchronization b0 dead-lock avoidence > >c)box d) none > >ans : a > > > >6. class c: public A, public B > > > >a) 2 member in class A,B shouldnot have same name > >b) 2 member in class A,C " '' '' '' > >c) both > >d) none > > > >ans : a > >7. question related to java > >8. OLE is used in > >a)inter connection in unix > >b)interconnection in WINDOWS > >c)interconnection in WINDOWS NT > > > >9.No given in HEX ---- write it in OCTAL > > > >10.macros and function are related in what aspect? > >a)recursion b)varying no of arguments > >c)hypochecking d)type declaration > > > >11.preproconia.. does not do one of the following > >a)macro ...... b)conditional compliclation > >c)in type checking d)including load file > > > >ans: c > > > > SECTION B > > __________ > > > >1.enum day = { jan = 1 ,feb=4, april, may} > >what is the value of may? > >a)4 b)5 c)6 d)11 > >e)none of the above > > > > > >2.main > >{ > >int x,j,k; > >j=k=6;x=2; ans x=1 > >x=j*k; > >printf("%d", x); > > > >3. fn f(x) > > > >{ if(x<=0) > > return; ans fn(5) ....? > >else f(x-1)+x; > >} > > > >4. i=20,k=0; > >for(j=1;j<i;j=1+4*(i/j)) > >{ > >k+=j<10?4:3; > >} > > > >printf("%d", k); ans k=4 > > > > > >5. int i =10 > >main() > >{ > >int i =20,n; > >for(n=0;n<=i;) > >{ > >int i=10 > > i++; > >} > >printf("%d", i); ans i=20 > > > >6. int x=5; > > y= x&y > >( MULTIPLE CHOICE QS) > >ans : c > > > > > >7. Y=10; > > if( Y++>9 && Y++!=10 && Y++>10) > >printf("........ Y); > >else printf("".... ) > > > > > >ans : 13 > > > > > >8. f=(x>y)?x:y > >a) f points to max of x and y > >b) f points to min of x and y > >c)error > >d) ........ > > > >ans : a > > > > > >9. if x is even, then > > > >(x%2)=0 > >x &1 !=1 > >x! ( some stuff is there) > > > >a)only two are correct > >b) three are correct > >c), d) .... > > > > > >ans : all are correct > > > >10. which of the function operator cannot be over loaded > > > >a) <= > >b)?: > >c)== > >d)* > > > >ans: b and d > > > > SECTION.C (PRG SKILLS) > > -------- > >(1) STRUCT DOUBLELIST > > { DOUBLE CLINKED > > INT DET; LIST VOID > > STRUCT PREVIOUS; BE GIVEN AND A PROCEDURE TO DELETE > > STRUCT NEW; AN ELEMENT WILL BE GIVEN > > } > > DELETE(STRUCT NODE) > > { > > NODE-PREV-NEXT NODE-NEXT; > > NODE-NEXT-PREV NODE-PREV; > > IF(NODE==HEAD) > > NODE > > } > > IN WHAT CASE THE PREV WAS > > (A) ALL CASES > > (B) IT DOES NOT WORK FOR LAST ELEMENT > > (C) IT DOES NOT WORK FOR----- > >(2) SIMILAR TYPE QUESTION > > ANS: ALL DON'T WORK FOR NON NULL VALUE > > > >(3) VOID FUNCTION(INT KK) > > { > > KK+=20; > > } > > VOID FUNCTION (INT K) > > INT MM,N=&M > > KN = K > > KN+-=10; > > } > > SECTION D > > -------- > >(1) a=2,b=3,c=6 c/(a+b)-(a+b)/c=? > >(2) no.rep in hexadecimal, write it in radiv 7 > >(3) A B C D E > > * 4 > > ---------- find E ANS: 13 > > E D C B A > > ------------ > >(4) GRE-MODEL TEST-1, SECTION-6(19-22) > >(5) M HAS DOUBLE AMOUNT AS D, Y HAS RS. 3 MORE THAN HALF OF AMOUNT OF D > > THE ORDERING A,B,C M C D C Y > > ANS:DATA INSUFFICIENT D C M C Y > >(6)IN STASTIC MEN CAUSE MORE ACCIDENTS THEN ONE CONCLUSION > >(A) MEN DRIVE MORE THAN ONCE > >(B) STASTICS GIVE WRONG INFORMATION > >(C) WOMEN ARE CAUTION THAN ME ANS; C(VERIFY) > >(D)-----ETC > >(7) P,Q,R,S,T,U -SECURING GRANT;TWO TOURIST PARTIES AND THEN TWO SECURITY > > GAURDS SHOULD GO WITH EACH PARTY > > ________________________________________________________________________ > > P AND R-ARE ENEMIES, Q DOES NOT GO SOUTH > > P&S-ARE WILLING TO BE TOGETHER > > ______________________________________________________________________ > > THE TWO PARTIES MAY GO SOUTH&NORTH RESPECTIVELY > > AT ONE POINT EACH MAY PASS EACH OTHER THEN GAURDS CAN EXCHANGE > > 6 Q BASED ON THIS > > (8)pq-r/s =2 what is q inference a,n&d > > (a) a can do n units of work in strs,a&b can do n units of work in 2 hrs > > in how many hrs n units of work ans:3 hr 30 min p = (2s+r)/q > > ____________ > > > >main() > >{ > > int var=25,varp; > > varp=&var; > > varp p = 10; > > fnc(varp) > > printf("%d%d,var,varp); > >} > > (a) 20,55(b) 35,35(c) 25,25(d)55,55 > > > > [ c++,c,dbms interview] > > [fundamentals] > > this is new paper > > ___________________________________________________________________________ > > application -software > > ____________________ > >part-1: > >28-questions > >(5)ingless ans:RDMS > >(1)bit program-ans d > >(2)c ans > >(3)+ 0 ans > >(4)00p--ans linking > >(5)------ > >(6)------- > >(9)25--45 even no. ans--10 > >(10) >10 <100 ---ans=n+9 > > > > three. I have answers for Q/A paper. For Q/C you > > should try for answers. > > > > INFOSYS 1997. TIME 1hr. > > PAPER CODE Q/A. marks 50. > >-------------------------------------------------------------- > >1)At 6'o clock clock ticks 6 times. The time between first and > >last ticks was 30sec. How much time it takes at 12'o clock. > > > >Ans. 66 sec. 2 marks. > > > >2)Three friends divided some bullets equally. After all of them > >shot 4 bullets the total no.of remaining bullets is equal to that of > >one has after division. Find the original number divided. > > > >Ans. x x x > > x-4 x-4 x-4 > > 3x-12 = x > > x= 6 > > ans is 18 2 marks > > > >3)A ship went on a voyage after 180 miles a plane statrted with 10 times > >speed that of the ship. Find the distance when they meet from > >starting point. > > > >Ans. 180 + (x/10) = x > > x = 20 > > ans is 180+20=200miles. 2 marks > > > >4) Fill the empty slots. > > Three FOOTBALL teams are there. Given below the list of maches. > > > > played won lost draw Goals for Goals against > >A 2 2 *0 *0 *7 1 > >B 2 *0 *1 1 2 4 > >C 2 *0 *1 *1 3 7 > > > >the slots with stars are answers. 4 marks > >BC drew with 2-2 > >A won on B by 2-0 > >a won on C by 5-1 > >( YOU HAVE TO FILL THE BLANKS AT APPROPRIATE STAR SYMBOLS.)` > >5) There are 3 societies a,b,c. a lent tractors to b and c as many > >as they had. After some time b gave as many tractors to a and c > >as many as they have. After sometime c did the same thing. > >At the end of this transaction each one of them had 24. > >Find the tractors each orginally had. > > > >Ans a had 39, b had 21, c had 12, 4 marks > > > >6) There N stations on a railroad. After adding x stations 46 additional > >tickets have to be printed. Find N and X. > > > >Ans. let N(N-1) = t; > > (N+x)(N+x-1) = t+46; > > trail and error method x=2 and N=11 4 marks > > > >7)Given that April 1 is tuesday. a,b,c are 3 persons told that their > >farewell party was on > > a - may 8, thursday > > b - may 10,tuesday > > c - june 8, friday > >Out of a,b,c one is only correct one of the regarding month,day,date. > >Other told two correct and the third person told all wrong.What is > >correct date,month,day. 5 marks > >(ans may be MAY 10 SUNDAY. check once again) > >8)There are 4 parties. df,gs,dl(depositloss),ew ran for a contest. > >Anup,Sujit,John made the following statements regarding results. > >Anup said either df or ew will definitely win > >sujit said he is confident that df will not win > >John said he is confident that neither ew nor dl will win > >the result has come. only one of the above three has made a correct > >statement. Who has made the correct statement and who has won > >the contest. 5 marks. > > (ans DL ) > >9)Five people a,b,c,d,e are related to each other. Four of them make > >one true statement each as follows. > >i) b is my father's brother. (ans. d said this) > >ii)e is my mother-in-law. ( b ) > >iii)c is my son-in-law's brother. ( e ) > >iv)a is my brother's wife. ( c ) > >who said each statement. > > 10 marks. > > > >10) All members of d are also members of a > > All '' e '' d > > all '' c '' both a and b > > not all '' a are members of d > > not all '' d '' e > >Some questions on these conditions.(5questions 5 marks) > >11) > > boys are allowed to watch football at c.v.Raman auditorium subjected to > > conditions. > > i)the boy over age 16 can wear overcoat > > ii)no boy over age 15 can wear cap > > iii)to watch the football either he has to wear overcoat or cap > > or both > > iv) a boy with an umberella or above 16 or both cannot wear sweater. > > v) boys must either not watch football or wear sweater. > > > > What is the appearence of the boy who is watching football. > > Try to solve this question................ > > > > > > > > ok!!!!! > > infosys paper 1997. > > paper code q/c. > >------------------------------------------------------------------------ > > > >1) be * be = acb > > a,b,c,e are non zero numbers find b,e. > > ans) b=1 e=9 > >2) a,b,c,d,e are having numerical values. there are some conditions > >given > > a) a=c <===> b!=e > > b) difference between a and c as same as difference between c and b > > as same as difference between a and d > > c) c<a and c>d > > then find a,b,c,d,e > >3) there are six cards in which it has two king cards. all cards are > >turned down and two cards are opened > > a) what is the possobility to get at least one king. > > b) what is the possibility to get two kings. > >4) a person went to a shop and asked for change for 1.15paise. > >but he said that he could not only give change for one rupee. > >but also for 50p,25p,10p and 5p. what were the coins he had > > ans) 1-->50 4--->10p 1--->25p > >5) there are 3 nurses and they work altogether only once in a week. > >no nurse is called to work for 3 consecutive days. > > nurse 1 is off on tueseday,thursday and sunday. > > nurse 2 is off on saturday. > > nurse 3 is off on thursday,sunday. > > no two nurses are off more than once a week. > > find the day on which all the 3 nurses were on work. > >6) there are 5 persons a,b,c,d,e and each is wearing a block or white > >cap on his head. a person can see the caps of the remaining 4 but can't > >see his own cap. a person wearing white says true and who wears block > >says false. > > i) a says i see 3 whites and 1 block > > ii) b says i see 4 blocks > >iii) e says i see 4 whites > >iiii) c says i see 3 blocks and 1 white. > > now find the caps weared by a,b,c,d and e > >7) there are two women, kavitha and shamili and two males shyam, aravind > >who are musicians. out of these four one is a pianist, one flutist, > >violinist and drummer. > > i) across aravind beats pianist > > ii) across shyam is not a flutist > > iii) kavitha's left is a pianist > > iiii) shamili's left is not a drummer > > v) flutist and drummer are married. > >8) 1/3 ed of the contents of a container evaporated on the 1 st day. > > 3/4 th of the remaining contents of the container evaporated the > > second day. what part of the contents of the container are left at > > the end of the second day. > >9) a man covered 28 steps in 30 seconds but he decided to move fast and > >covered 34 steps in 18 seconds. how many steps are there on the > >escalator when stationary. > >10) all fair skinned, rich, handsome, muscular, lean and employed are > >tall men > > 1) all lean men are muscular. > > 2) no fairskinned person who is not rich is handsome. > > 3) some muscular men are handsome. > > 4) all handsome are fairskinned. > > 5) no person who is neither fair skinned nor muscular is enplyed. > > 6) we unable to recall this condition and question also incomplete. > > > >DE-Shaw Software,Hyderabad. > >--------------------------- > > SECTION-A > > > > you should write the programs for the following problems in C. > > > > 1. swapping two variables x,y without umen > > 1) all lean men are muscular. > > 2) no fairskinned person who is not rich is handsome. > > 3) some muscular men are handsome. > > 4) all handsome are fairskinned. > > 5) no person who is neither fair skinned nor muscular is enplyed. > > 6) we unable to recall this condition and question also incomplete. > > > >DE-Shaw Software,Hyderabad. > >--------------------------- > > SECTION-A > > > > you should write the programs for the following problems in C. > > > > 1. swapping two variables x,y without umen > > 1) all lean men are muscular. > > 2) no fairskinned person who is not rich is handsome. > > 3) some muscular men are handsome. > > 4) all handsome are fairskinned. > > 5) no person who is neither fair skinned nor muscular is enplyed. > > 6) we unable to recall this condition and questiongrams on pre-processor directions has been given asking > > to find the output. > > 8. simple question given on pointer > > a) kernighan & richie page no. 122 > > b) schaum series page no. 323 > > try to understand the pointer problems given here he asked to > >explain > > in the interview if answer it in exam. > > 9. write a c program to find whether a stack is progressing in forward > > or reverse direction. > > 10. write a c program that reverses the linked list. > > > > GUIDELINES: > > the interview is very tough he is asking to do the problems in > > front of him. he is also giving some new problems to solve before > >him. > > you should have a very good funda of C language. > > > >CV paper: > >***************************************************************** > > > > > > 1-18 General (i) Data sufficiency > > (ii) Analytical > > (iii) Mathematics > > 19-45 C&UNIX > > > >1. |x-a|=a-x Ans: (c) x<=a > > > >2. There is six letter word VGANDA . How many ways you can arrange the > > letters in the word in such a way that both the A's are together. > > Ans : 120 (5x4!) > > > >3. If two cards are taken one after another without replacing from > > a pack of 52 cards what is the probability for the two cards be > > queen. Ans : (4/52)*(3/51) (1/17)*(1/13) > > > >4. 51 x 53 x ... x 59 ; symbols ! - factorial > > ^ - power of 2 > > (a) 99!/49! (b) (c) (d) (99! x 25!)/(2^24 x 49! x 51!) > > > >5. The ratio fo Boys to Girls is 6:4. 60% of the boys and 40% of girls > > take lunch in the canteen. What % of class takes lunch in canteen. > > Ans : 52% (60/100)*60 + (40/100)*40 > > > > > >Data Sufficiency : a) only statement A is sufficent , B is not > > b) only statemnet B > > c) both are necessary > > d) both are not sufficient. > > > >6. X is an integer. Is X dvisible by 5? > > A) 2X is divisible by 5. > > B) 10X is divisible by 5. > > > > Ans : A) > > > >7. (A) Anna is the tallest girl > > (B) Anna is taller than all boys. > > (Q) . Is Anna the tallest in the class > > > > Ans : c > > > >8. maths question > >9, 10 Analytical > > > >Zulus always speak truth and Hutus always speak lies. There are > >three persons A,B&C. A met B and says " I am a Zulu or I am Hutu". > >We don't know what exactly he said. then B meets C and says to c > >that " A is a Zulu ". Then C replied " No, A is a Hutu ". > > > >9. How many Zulus are there ? Ans 2( check) > >10) Who must be a Zulu ? Ans B (check) > > > >11,12.13,14. > >----------- > > > > A father F has 5 sons, p,q,r,s,t. Not necessarly in this order. > >Two are of same age. The eldest and youngest cannot be twins. T is elder > >to r and younger to q and s has three older brothers > > > >q) who are the twins? s,t > >q) who is the oldest and youngest? q, (s&t) > >q) > >q) > > > > > >15,16,17,18 > >---------- > > > > There are 7 people who take a test among which M is the worst, R is > >disqualified, P and S obtain same marks, T scores less than S and Q scores > >less than P, N scores higher than every one. > >Ans : N P S T Q R M (may be, just check) or N S P T Q R M > > > >C & UNIX > >-------- > > > >19. What does chmod 654 stand for. > > > > Ans : _rw_r_xr__ > >20. Which of following is used for back-up files? > > (a) compress (b) Tar (c) make (d) all the above Ans : b > >21 what does find command do ? Ans : search a file > >22. what does " calloc" do? > > Ans : A memory allocation and initialising to zero. > >23 what does exit() do? > > Ans : come out of executing programme. > >24. what is the value of 'i'? > > i=strlen("Blue")+strlen("People")/strlen("Red")-strlen("green") > > Ans : 1 > >25. i=2 > > printf("%old %old %old %old ",i, i++,i--,i++); > > Ans : check the answer. > >26. Using pointer, changing A to B and B to A is Swapping the function > > using two address and one temperory variable. a,b are address, t is > > temporary variable. How function look like? > > Ans : swap(int *, int *, int ) > >27. In 'o' how are the arguments passed? > > ans : by value. > >28. Find the prototype of sine function. > > Ans : extern double sin(double) > >29. Scope of a global variable which is declared as static? > > ans : File > >30. ASCII problem > > i=.. > > ans : 6 > >31 . > >32. what is the o/p > > printf(" Hello \o is the world "); > > Ans : Hello is the world. > >33. Clarifying the concept addresses used over array ; ie changing > > the address of a base element produces what error? > >34. child process -- fork > > child shell -- sh > >35. Answer are lex 7 yacc & man read these things in UNIX > >36. What is > > int *p(char (*s)[]) > > Ans : p is a function which is returning a pointer to integer > > which takes arguments as pointer to array of characters. > >************************************************************ > > > >Wipro paper(System software) > >July-1997 > > > >PART --A > >------------------------------------------------------ > >1) abcD+abcd+aBCd+aBCD > > then the simplified function is > > ( Capital letters are copliments of corresponding letters > > A=compliment of a) > > > > [a] a [b] ab [c] abc [d] a(bc)* [e] mone > > (bc)*=compliment of bc > > > > Ans: e > > > >------------------------------------- > >2) A 12 address lines maps to the memory of > > > > [a] 1k bytes [b] 0.5k bytes [c] 2k bytes [d] none > > > > Ans: b > > > >---------------------------------------- > >3) In a processor these are 120 instructions . Bits needed to impliment > > this instructions > > [a] 6 [b] 7 [c] 10 [d] none > > > > Ans: b > > > >----------------------------------------- > >4) In 8085 microprocessor READY signal does.which of the following > > is incorrect statements > > [a]It is input to the microprocessor > > [b] It sequences the instructions > > > > Ans : b > >---------------------------------------- > > > >5) Return address will be returned by function to > > [a] Pushes to the stack by call > > Ans : a > >------------------------------------------ > >6) > > n=7623 > > { > > temp=n/10; > > result=temp*10+ result; > > n=n/10 > > } > > > >Ans : 3267 > >---------------------------------------------- > >7) If A>B then > > F=F(G); > > else B>C then > > F=G(G); > > in this , for 75% times A>B and 25% times B>C then,is 10000 instructions > > are there ,then the ratio of F to G > > [a] 7500:2500 [b] 7500:625 [c] 7500:625 if a=b=c else > > 7500:2500 > >-------------------------------------------------- > >8) In a compiler there is 36 bit for a word and to store a character 8bits are > >needed. IN this to store > > a character two words are appended .Then for storing a K characters string, > > How many words are needed. > > [a] 2k/9 [b] (2k+8)/9 [c] (k+8)/9 [d] 2*(k+8)/9 [e] none > > > > Ans: a > >--------------------------------------------------------- > >9) C program code > > > > int zap(int n) > > { > > if(n<=1)then zap=1; > > else zap=zap(n-3)+zap(n-1); > > } > > then the call zap(6) gives the values of zap > > [a] 8 [b] 9 [c] 6 [d] 12 [e] 15 > > > > Ans: b > >--------------------------------------------------------------- > >PART-B > >------- > >1) Virtual memory size depends on > > [a] address lines [b] data bus > > [c] disc space [d] a & c [e] none > > > > Ans : a > >----------------------------------------------- > >2) Critical section is > > [a] > > [b] statements which are accessing shared resourses > > Ans : b > >------------------------------------------------- > > > >3) load a > > mul a > > store t1 > > load b > > mul b > > store t2 > > mul t2 > > add t1 > > > > then the content in accumulator is > > > >Ans : a**2+b**4 > >--------------------------------------------------- > >4) question (3) in old paper > >5) q(4) in old paper > >6) question (7) in old paper > >7) q(9) in old paper > >------------------------------ > >Hughes,Delhi: > >------- > > > > > > (A)Aptitude :25 Qns, 20 Minutes > > > > > > > > 1. 2 x 4 analytical GRE type qns > > > > 2. 2-3 Reasoning qns (GRE type) > > > > 3. Probability of getting a sum of 7 when two dices are thrown together > > > > 4. Rest quantitative questions > > > > > > > > (B) Technical: 50 Qns, 45 Minutes > > > > > > > > 1. 3 qns on operating systems. I qn on dijkestra algorithm > > > > > > > > 2. Using which pin it's possible to address 16 bit addresses even though there > > > > are only 8 address bits in 8085? Ans: ALE > > > > 3. Voltage gain for an amplifier is 100 while it is operating at 10 volts. > > > > What is the O/P voltage wen i/p is 1 volt > > > > 4. Quality factor indicates a0 Quality of inductor b) quality of capacitor > > > > c) both > > > > 5. Qns related to bridges, routers and generators, which OSI layer they > > > > corresspond to. (Refer to stevens 4th chapter) > > > > 6.OPAmp's I/P ciurrent, O/p current and CMRR is given, what is the voltage > > > > gain > > > > 7. 2-3 qns on scope of static variables in C. Qn to view o/p odf a C static > > > > var > > > > 8. Qn to print a value of a pointer > > > > 9.resistance increases with temperature in a) Metal b) semiconductor > > > > 10. A qn to find the physical address from a given virtual address, virtual > > > > to physical address table was provided > > > > 11. 16 bit mantissa and 8 bit exponent can present what maximum value? > > > > 12. 4 bit window size in sliding window protocol, how many acknowledements can be held? > > > > 13. Security functionality is provided by which layer of OSI > > > > 14. Frequency spectrums for AM, FM and PM (figure given, u'veto tell which > > > > Kind of modulation it belongs to) > > > > 15. Among AM and FM which is better and why? > > > > 16.LASt stage of TTL NAND gate is called: Ans: Totem Pole Amplifier > > > > 17. SR to JK flip flop conversion. Ans: S=JQ', R=KQ > > > > 18. LSB of a shift register is connected to its MSB, what is formed: Ans: > > > > RING Counter > > > > 19. 2-3 Qns based on Demorgan's laws (identiies: (A+b)' = A'b', etc) > > > > 20. 2 qns on Logic gates (O/p of logic gates) > > > > 21. Diff in IRET and RET statements of 8086 > > > > 22. How many address bytes are required to address an array of memory chips > > > > (4 * 6), each chip having 4 memory bits and 8k registers. > > > > 23. Diff. in memory mapped and I/P O/P mapped Input/Output (Refer a book on Microprocessor) > > > > 24. Qn on pipeline architecture > > > > 25 QN on LAPB protocol > >1]. The following variable is available in file1.c > > > > > >static int average_float; > > > > all the functions in the file1.c can access the variable > > > > > >[2]. extern int x; > > > > Check the answer > > > >[3]. Another Problem with > > > > # define TRUE 0 > > > > some code > > > > while(TRUE) > > { > > some code > > > > } > > > > > > This won't go into the loop as TRUE is defined as 0 > > > > > >[4]. A question in structures where the memebers are dd,mm,yy. > > > > mm:dd:yy > > 09:07:97 > > > >[5]. Another structure question > > > > 1 Rajiv System Analyst > > > >[6]. INFILE.DAT is copied to OUTFILE.DAT > > > > > >[7]. A question with argc and argv . > > > > Input will be > > > > c:\TEMP.EXE Ramco Systems India > > > >main() > >{ > > int x=10,y=15; > > x=x++; > > y=++y; > > printf("%d %d\n",x,y); > >} > > > > > > > > > >---------------------------------------------------------------------- > > > > > >int x; > >main() > >{ > > int x=0; > > { > > int x=10; > > x++; > > change_value(x); > > x++; > > Modify_value(); > > printf("First output: %d\n",x); > > } > > x++; > > change_value(x); > > printf("Second Output : %d\n",x); > > Modify_value(); > > printf("Third Output : %d\n",x); > >} > > > >Modify_value() > >{ > > return (x+=10); > >} > > > >change_value() > >{ > > return(x+=1); > >} > > > >---------------------------------------------------------------------------- > > > >main() > >{ > > int x=20,y=35; > > x = y++ + x++; > > y = ++y + ++x; > > printf("%d %d\n",x,y); > >} > > > >----------------------------------------------------------------------- > > > > > >main() > >{ > > char *p1="Name"; > > char *p2; > > p2=(char *)malloc(20); > > while(*p2++=*p1++); > > printf("%s\n",p2); > >} > >---------------------------------------------------------------------- > > > > > >main() > >{ > > int x=5; > > printf("%d %d %d\n",x,x<<2,x>>2); > >} > > > >-------------------------------------------------------------------- > > > >#define swap1(a,b) a=a+b;b=a-b;a=a-b; > >main() > >{ > > int x=5,y=10; > > swap1(x,y); > > printf("%d %d\n",x,y); > > swap2(x,y); > > printf("%d %d\n",x,y); > >} > > > >int swap2(int a,int b) > >{ > > int temp; > > temp=a; > > b=a; > > a=temp; > > return; > >} > >---------------------------------------------------------------------- > > > > > >main() > >{ > > char *ptr = "Ramco Systems"; > > (*ptr)++; > > printf("%s\n",ptr); > > ptr++; > > printf("%s\n",ptr); > >} > > > >--------------------------------------------------------------------- > > > >#include<stdio.h> > >main() > >{ > > char s1[]="Ramco"; > > char s2[]="Systems"; > > s1=s2; > > printf("%s",s1); > >} > > > >----------------------------------------------------------------- > > > > > > > >#include<stdio.h> > >main() > >{ > > char *p1; > > char *p2; > > p1=(char *) malloc(25); > > p2=(char *) malloc(25); > > strcpy(p1,"Ramco"); > > strcpy(p2,"Systems"); > > strcat(p1,p2); > > printf("%s",p1); > >} > > > > > > > > 1.const char * > > char * const > > What is the differnce between the above two?. > > 2.In Unix inter process communication take place using?. > > 3.What are the files in /etc directory?. > > 4.About i-node numbers > > 5.Max relaxable permisssion value with out giving write permission > > to others?. > > 6.About ln(linking) > > 7.A question on until > > until (who |grep mary) > > do > > sleep(60) > > done > > 8.Linking across directories?. > > > > 9.process id for kernell process > > 10.very first process created by kernell > > 11.function to repaint a window immediately?. > > 12.Function entry for DLL in win3.1 > > 13.win 3.1 is a > > 14.win 3.1 supports which type of multi tasking?. > > 15.Message displayed when a window is destroyed > > 16.About fork()? > > 17.About send message and post message > > 18.Message to limit the size of window > > 19.System call executable binary file intoa process > > 20.About GDI object?. > > 21.API used to hide window > > 22.Initialize contents of a dialog?. > > > >--- > > > > Verifone > > 1.const char * > > char * const > > What is the differnce between the above two?. > > 2.In Unix inter process communication take place using?. > > 3.What are the files in /etc directory?. > > 4.About i-node numbers > > 5.Max relaxable permisssion value with out giving write permission > > to others?. > > 6.About ln(linking) > > 7.A question on until > > until (who |grep mary) > > do > > sleep(60) > > done > > 8.Linking across directories?. > > > > 9.process id for kernell process > > 10.very first process created by kernell > > 11.function to repaint a window immediately?. > > 12.Function entry for DLL in win3.1 > > 13.win 3.1 is a > > 14.win 3.1 supports which type of multi tasking?. > > 15.Message displayed when a window is destroyed > > 16.About fork()? > > 17.About send message and post message > > 18.Message to limit the size of window > > 19.System call executable binary file intoa process > > 20.About GDI object?. > > 21.API used to hide window > > 22.Initialize contents of a dialog?. > > > > SIEMENS INFO > > THIS PAPER CONSISTS 6 PARTS. all are multiple choice q's > > 1)general > > 2)c/unix > > 3)c++/motif > > 4)database > > 5)x-windows > > 6)ms-windows > > we have written q's not acc. to each part.total 50. q's. time is > >sufficient. > >if u have basic idea about all of the u can easily answer the paper. > > paper > >------ > >1)which of following operator can't be overloaded. > >a)== b)++ c)?! d)<= > >2)#include<iostream.h> > > main() > >{ > >printf("Hello World"); > >} > >the program prints Hello World without changing main() the o/p should > >be > > intialisation > > Hello World > > Desruct > > the changes should be > >a)iostream operator<<(iostream os, char*s) > >os<<'intialisation'<<(Hello World)<<Destruct > >b) c) d)none of the above > >3)CDPATH shell variable is in(c-shell) > >a) b) c) d) > >4) term stickily bit is related to a)kernel > >b)undeletable file > >c) d)none > >5)semaphore variable is different from ordinary variable by > >6)swap(int x,y) > >{ > >int temp; > >temp=x; > >x=y; > >y=temp; > >} > >main() > >{ > >int x=2;y=3; > >swap(x,y); > >} > >after calling swap ,what are yhe values x&y? > >7) static variable will be visible in > >a)fn. in which they are defined > >b)module " " " " > >c)all the program > >d)none > >8)unix system is > >a)multi processing > >b)multi processing ,multiuser > >c)multi processing ,multiuser,multitasking > >d)multiuser,multitasking > >9)x.25 protocol encapsulates the follwing layers > >a)network > >b)datalink > >c)physical > >d)all of the above > >e)none of the above > >10)TCP/IP can work on > >a)ethernet > >b)tokenring > >c)a&b > >d)none > >11)a node has the ip address 138.50.10.7 and 138.50.10.9.But it is > >transmitting data from node1 to node2only. The reason may be > >a)a node cannot have more than one address > >b)class A should have second octet different > >c)classB " " " " " > >d)a,b,c > >12) the OSI layer from bottom to top > >13)for an application which exceeds 64k the memory model should be > >a)medium > >b)huge > >c)large > >d)none > >14)the condition required for dead lock in unix sustem is > >15)set-user-id is related to (in unix) > >16) bourne shell has > >a)history record > >b) > >c) > >d) > >17)wrong statement about c++ > >a)code removably > >b)encapsulation of data and code > >c)program easy maintenance > >d)program runs faster > >18)struct base {int a,b; > >base(); > >int virtual function1();layer from bottom to top > >13)for an application which exceeds 64k the memory model should be > >a)medium > >b)huge > >c)large > >d)none > >14)the condition required for dead lock in unix sustem is > >15)set-user-id is related to (in unix) > >16) bourne shell has > >a)history record > >b) > >c) > >d) > >17)wrong statement about c++ > >a)code removably > >b)encapsulation of data and code > >c)program easy maintenance > >d)program runs faster > >18)struct base {int a,b; > >base(); > >int virtual function1();layer from bottom to top > >13)for an application which exceeds 64k the memory model should be > >a)medium > >b)huge > >c)large > >d)none > >14)the condition required for dead lock in unix sustem is >http://www.mailcity.com > > > > > >TECHNICAL TEST (MASCOT) > >--------- ---- > > > >Total 6 sections. > >1)Computer Fundamentals > >2)Algorithms > >3)Hardware > >4)Software > >5)General Awareness > >6)Languages > > > >* All together 60 questions with each section containing 10 questions. > >* All are multiple choice questions > > > >1. One Nibble = ? > >2. Hexadecimal and Octal representation of 1024 ? > >3. What a compiler does ? > >4. DOS ? (whether Graphical interface or Character interface and two more > > choices are given) > >5. CPU - abbrevation > >6. Fortran used as ( Ans : Scientific Language) > >7. ASCII character set ? (total number) > >8. Windows NT- What NT stands for? > >9. Which is not an input device ? (keyboard, Disk, Mouse,Lightpen) > >10. Which is not a pointing device ?( mouse,Joy stick,lightpen none) > >11. Microsoft Chief ? > >12. 4GL ? (Fortran,SQL,ADA, ....) > >13. Father of Computers? > >14. Which of them is Object Oriented Language.? > >15. Power PC is the product of ? (Microsoft,IBM,Apple,Motorola,Intel) > > (A combination of any correct 3 companies) > >16. Latest processor used ? (Pentium, Power PC, Pentium pro,none) > >17. MS Word is ? > >18. First Super Computer built in India. (Ans : param) > >19. Which of the following companies donot manufacture chips? > > (Microsoft, Motorola, Intel, HP) > >20. LAN - abbrevation > >21. WAN - abbrevation > >22. Modem is ? (related to electrical hardware.- Like Modulator &demodulator) > >23. FDD - abbrevation ( floppy disk drive) > >24. BIT - abbrevation > >25. Information is ? (message, data,processed data,none) > >26. Which is not networking ?(internet,ethernet,arcnet,none) > >27. One Gigabyte =?( 2 power30 , 2 power 20 ,2 power 10 none) > >28. Which of the following is not RDBMS ? (sybase, SQL,Acess,none)_ > >29. Oracle is ? (Ans : Relationasl Data Base Management System) > >30. In Oracle, Table means ( Ans : Collection of records) > >31. DMA - abbrevation (Direct Memory Access,Discrete memory Access, > > Disk memoryaccess) > >32. What is meant byStatic Variable ? > >33. What is meant by QUEUE? {refer any data structures text} > >34. What is meant by STACK? {refer any data structures text} > >35. The processor used in first IBM PC? (8086,8088,zig4,intel) > >36. Difference between 80286 and 80287 > >37. In bubble sort , no. of comparisons required ?(ans : formula : N*(N-1)/2) > >38. No. of comparisons of an item in 100 items by binary comparison? > > ( 10,25,50 100) > >39. CRT - (Cathode Ray Tube) > >40. No. of entryvalues are there in ideally in a subroutine. > >41. Binary tree? > >42. Flow in one direction ? (Single linked list,Double linked > >list,.......,....) > >43. Electron screen size ? (here, 2 lines of algorithm is given. > > Name the algoirithm) > >44. Which is not storage device.? (printer,CD ROM,Disk,none) > >45. A question regarding memory ? ( least used memory,recently unused > >memory,..) > >46. ISO - (International Standard Organisation) > >47. HTML - (Hyper Text Makeup Language) > >48. Flow chart for factorial N? (ans :choice a) > >49. What is meant by Recursion ? > > > >50. Struct(s) > > { > > int a; > > long b; > > } > > Union (u) > > {int a; > > long b; > > } > > Print sizeof(s)and sizeof(u) if sizeof(int)=4 and sizeof(long)=4 > > > >51.Switch (i) > > i=1; > > case 1 > > i++; > > case 2 > > ++i; > > break; ( ans : 1,2,3,none) > > case 3 > > --i; > > Output of i after executing the program > > > >52. char S; > > char S[6]= " HELLO"; > > printf("%s ",S[6]); > > > > output of the above program ? (0, ASCII 0, I,unpredictable) > > > >53. Unsigned char c; > > for ( c=0;c!=256;c++2) > > printf("%d",c); > > > > No. of times the loop is executed ? (127,128,256,infinitely) > > > >54. int i; > > i=0; > > repeat > > i=i+1; <====== PASCAL PROGRAM > > print i; > > until(i<10) > > end > > No. of times the loop is executed? > > > >55. Convert (int A,var ,int B;int c) > > { > > A=10; > > B=4-; > > C=120; > > } > > Convert (inta,b,c) > > { <====== PASCAL PROGRAM > > a=1; > > b=4; > > c=12; > > } > > convert (A,B,c) ? (10,40,120 > >10,40,12,..........,............) > > > >56. Procedure A > > Begin > > > > -------- > > > > end <====== PASCAL PROGRAM > > Procedure B No. Of errors in the program ?(1,2,3,none) > > Begin > > > > ----------- > > > > end > > > >57. int i; > > i=2; > > i++; > > if(i=4) > > { > > printf(i=4); > > } > > else > > { > > printf(i=3); > > } > > output of the program ? (4,3,unpredictable,none) > > > >58. what is FAT?. > > > >File allocation table > > > > QUANTITATIVE APPTITUDE TEST : > > --------------------------- > > > > Total 44 questions are there. > > Refer R.S. Aggarwal > > > >1. How many degrees hours hand rotate in 10 minutes? > >2. 1/(10 power 18) - 1/(10 power 20) = ? > >3. 0 <x < 1: Which is greater ? (1/(x square),1/x,x,x square) > >4. c=a/b ; a-1=c What is the relation between a&b > >5. N = ((8.42)**2)*(95. ....)/((0.982)*(64.....)**2) > > If N contains the first three digits as 988,Which of the following is the > > nearest answer (9.88,98.8,988,none) > >6. The sum of 7 consecutive odd integers with 27 as the fourth number. > >7. (66666666666666)**2 + 888888888888=? > >8. 2486724...... Express it in product of 3 numbers.(The given number > > is not exactly correct. Choices are given. Very easy) > >9. Radius of sphere is increased by 50%. By how much percentage is surface > > area is increased. > >10. In which of the following , 2 as a common factor , can be eliminated. > > > > Ans : log(x square)/log(y square) = log(x)/log(y) > > > >Antonyms : > >11. AUSPICISIOUS > >12. REHALISHLY > >13. & 14. - Sentence correction > >15, 16 , 17 - Spelling Mistakes > >18, 19 - Two Questions > > > > 6 letters are assigned certain numbers. > > In each qusetion , 4 combination of digits are given . Of which , which gives > > a meaningful word. > >20 & 21. - 4 sentences will be given in each question. Arrange them in > >logical order . > >22. 5 straight lines are cut in a circle. A question regarding this. > > > > Reasoning : > > > > a) If statement A alone is required > > b) If statement B alone is required > > c) If bothe statements A & B are required > > d) Neither > > > >23. Does Mr. Mathew give tution ? > > A) MAthew is a teacher > > B) In school, the teacher is not expected to give tutions. > > > >24. There is no power cut in advanced country > > If T is a city, Is there power cut in that city? > > A) Z is a advanced country > > B) T ia a capital city of country Z > > > >25. Tanzanians are in East Africa. Tanzanizns are good in either Education , > > Dance or Music > > A) Tanzanians are good at Education > > B) East Africa are good at dance & Music. > > > > Remaining questions 26 - 29 are of the same type. > > > >30. On onw day, 14 children are admitted in a school by their mothers. > > 2 are sisters, 3 are brothers,2 are brother and sister and 2 are twins. > > The rest are singles. How many mothers came? (5 , 7, 9, 14) > > > >31. Problem Cisterns & pipes. > > > > It will take 8hrs to fill a cistern. But due to leak at the bottom, it > > take 10 hrs to full it. In how many hrs, th eful tank will be emptied > > because of leak.? (18,8,40,10) > > > >32. Question regarding men & work > > > > A does alone a work in 4 days > > B does alone a work in 8 days > > C does alone a work in 10 days > > A & B together ------ > > C & B together ------ > > > >33. In 3.5 Kg rod , there is 74% silver. If it is alloyed with a 0.5 Kg rod, > > the % of silver goes p to 84%. The percent of silver in 0.5 Kg rod? > > > >34. Two chords of lengths 2L1 and 2L2 are drawn in a circle. Their lengths > > are inversely proportional to the straight distance joining the centre. > > Find the radius of circle. > > > >35. A Kg of tea costs Rs 49.50 . But the supplier gives 10 gms less for > >every Kg he sold. What is the actual cost. > > > >36 - 40 > > > > A question on transportation table. 5 questions were given. > > > > ------------------------------------------------------- > > A B C D E > > > > ------------------------------------------------------- > > A X 12 8 20 6 > > ------------------------------------------------------- > > B 12 X 12 5 9 > > ------------------------------------------------------- > > C 20 8 X 4 7 > > ------------------------------------------------------- > > D 3 15 6 X 10 > > ------------------------------------------------------- > > E 12 5 8 3 X > > ------------------------------------------------------- > > > > A,B,C,D,E denote the stages. > > X denote the start of the stage. > > The bus goes from A to E and E to A woith back stops at B,C, & D > > For each the charge is Rs.0.70 > > The numbers in the table are how many passengers are there in the bus > > upto that stage.( the numbers given the table are not correct) > > > >36. Total no. of passengers in onward journey > > > >37. Total amount in the conductors bag just before the bus reaches > > the stage C > > > >38. How many Rs. 1.40 tickets are issued to passengers in backward journey. > > > >39. If the bus breaks down between the stages C & D , the amount refunded to > > passengers. > > > >40. If the ticket costs Rs.1.50, how much is the profit in Backward journey. > > > > Remaining 4 questions may be fron English. > > > >--------------------------------------------------------- > > > > > > > > > ARTHAMATIC SECTION > > >(1) if a boat is moving in upstream with v1 km/hr and in the down > >stream > > > it is moving with v2 km/hr then what is the speed of the stream. > > > ans: 13 check the values of v1 and v2 are given > > > to find ans (v+s = v1, v-s = v2 find the boat velocity) > > > > > > (2) 0.75 * 0.75 * 0.75 - 0.001 > > > -------------------------------- > > > 0.75*0.75-0.075+0.01 > > > > > > (3) A can work done in 8 days > > > B can work three timesfaster than the A; > > > C can work five times faster asthe A; > > > ans : 8/9 it is correct place blindly. > > > > > > (4) one answer is 200/3 % it is perfectly correct wecannot recollec > > > the prob. so place it blindly. > > > (5) A car is journied a certain distance in 7 hrs in forward journey > > > in the return journey increased speed 12km/hr takes the times 5 hrs. > > > what is the distance ans:210 it is perfect place blindly. > > > (6) instead of multiplying by 7 to a number dividing by 7 what is > > > the percentage of error > > > ans we dont know but he has gived 14 18 25 andsome answers less than > > > > > >(7) x + 4 y > > > ---------- relation between x and y is x/2y = 3/2 ie x = 3y find > >the > > > x - 2y ratio ans: 7 place it blindly. > > >(8) a man buy a liquid by 12 lts and the mixture is of 20% liquid in > >water > > >then he makes it in 30% mixture then what is the % of liquid with > >water. > > >(9) if a man byes 1lt of milk for 12rs and mixes with 20% of water and > > >sels it for rs15 thgen what is percentage of gain > > >(10) A pipe can fill a tank in 30 min B can fill in 28 min then if 3/4 > >th > > >of tank can be filled by B pipe and after wards both are opened then > > >how much time is required by both the pipes to fill the tank > >completely. > > >note: the values of A and B may slitely vary be ware. > > >(11) on an item a company gave 25% discount then they get 25% profit > > >if it gives 10% discount then what is the profit. > > >ans: 30% it is correct place blindly. > > >(12) > > > > > >i will send the remaining problems if i get remembered o.k this section > > >contain 29 questions. > > > > > >in fourth section. > > >1. All chairs laugh. > > > some birds laugh. > > > > > >2. some green are blue > > >no blue is white. > > > > > > > > >3 all scientists are fools. > > >all fools are literates. > > >only these questions see rs agarwal reasoning verbal and nonverbal book > > >new edition asthe pagenumbers i already sended to you. > > >ansers he changed slitely see. > > > > > >>>From two fig 6 questions regarding the > >swimmers,girls,tennisplayers,tall and > > >second one on politicians,graduates,parliament members, both questions > > >are same given so mugup and go to exam and place blindly i already > > >sended the page numbers in previous mail. > > > > > >series:(1) R,M,(..),F,D,(..) > > > ans: I,C > > >(2) (...),ayw,gec,mki,sqo ans: usq. > > >(3) 1,3,4,8,15,27, ans: 50 > > >(4) 0,2,3,5,8,10,15,17,24,26,.. ans: 35 > > >(5) 2,5,9,19,37,.. ans:75 > > > > > >these are the correct ansers place it blindly. > > > > > >the figure series which i had already send in the earlier paper is > > >same and one extra qestion is their it is this type > > > box type in side the box line and dot. > > > this type see in the new edition rs agerwal a box is their > > >in the answer so try for question in rs agerwal > > > > > > see rs agerwal for statements and assemptions questions. > > >cut off will be around 30 out of 105 Bso place only the known problems > >so > > >place only correct problems. > > >the above 35 questions aare enough to qualify. > > >remaining questions if know exact answers then place . > > >otherwise simply leave it. > > > > > > > > > >one to one negative marking is there.it is tougu to qualify unless u > >know th epaper.totally there are 105 questions. 70 min. > >three flow sheets------ 10 min. > >sections are quantitative(23),analytical(about 20) ,series&venn > >diagrams,logical(20) questions from a passage (about 10). time span for > >each section is different.sit at the back so that u can turn pages if u > >want.different colored papers > > are used. > >for flow sheets > >first one is relatively easy > > 1.u will be given conditions like > > if a wins he gets 100 pts,if b wins he gets 50 pts etc > > 2.there is flow sheet& there are empty cells(4) at "yes' or 'no" > >decision points. > > 3.for each cell 4 choices will be given which should be chosen by > >following through initial conditions &flow sheet logic. > >4.rem. -ve marking is there. > >no verbal questions. > > > >rs aggarwals verbal& nonverbal book > >verbal--- > >pg. 254 pr. 53 to56(almost same) > >246 eg.2 > >pg 104 exer.3a about 5to 6 series qu.are there.so do well > > pg.354-355 8,13, > > 6th doubt > >4 conclusions r there in all ques. > >pg.115----qu.36 > >nonverbal----pg.5 > >41,54,108,145,158 > >241 is doubtful > >--------------- > >ans. to one quant. is 200/3 % > > > >anals > > 1.six persons will be there. > > killer,victim,hangman,judge,police,vitness > > a,b, c,d,e,f > >u have to match > >conditions like,a is the last person to the victim alive,will be given > >as > >clues.so we can conclude that a is the killer. > >this is an easy one .paragraph will be very big .don' worry > >5 to 6 ques. > >2. > >5 persons will be there. > >cashier, clerk,buyer,manager,floorwalker(check in info. paper for exact > >ques.) > >a,b,c,d,e will be their names. > >conditions will be given&we have to match who is who > >3 r women&2 r men in this > >sample condition, > >cashier&clerk if get married, b will be wise man > >mrs.c husband has some business prob with manager > >manager&cashier(or clerk) r classmates > >etc. will be given > > > >do quantitative qu. from back. > > > >data graphs on turnover,gross profit &net profit will be given& > >u have extract data from that &find out few ratios.(easy one) > >this is all what i know. > > > > >>>From guddu@ee.iitb.ernet.inThu Feb 26 09:42:43 1998 > >Date: Tue, 20 Jan 1998 18:01:05 +0530 > >From: guddu@ee.iitb.ernet.in > >Subject: /home2/guddu/mail/hcl.doc > > > > > > > > Here HCL came yesterday. They are taking students in 3 streams at > >present. > > one: > > Application software > > - Open to Computer Science and Non-computer science > >students > > - Written test of 1 hour duration consisting of 4 sections > > > > > >System software: > > - Open to all > > Written test of 90 minutes duration > > > > * Computer awareness section > > -Questions from Computer Science (network, windows, OLE, > >Internet, OSI) > > * C Prgramming fundamentals (c/c++/java) (Comparision of c and > >java) > > * Analysis of program code (c/c++/java) (only one question from > >java) > > * General aptitude (quantitative aptitude, analytical ability) > > > >********************************************************************* > >Questions from systems: > >Section 1: > >1. Piggy backing refers to.... > >2. OSI emulation layer ? > >3. Parity error checking is used for.........? > >4. In a 20 Mhz computer, the time taken for a 3clock cycle > >instruction is:........ > >ans: 120 ns (check) > >5. convert 0xFFE into radix 7 > >6. Internet IP address is unique for.. > >ans: domain of the node (check) > > > >Section 2: > >1. Comparision of java and C > > The feature present in C but not in java > > (a) recursion (b)Passing variable arguments (c).... (d)... > >Programs > >1. > >main() > >{ > >int y = 10; > >if(y++ == 10 && y++ != 10 && y++ > 11) > > printf("%d",y); > >else > > printf("2y = %d",2*y); > >} > >2. > >void funca(p) > >int *p; > >{ > > *p += 20; > >} > > > >void funcb(m) > >int *m; > >{ > > int n; > > m = &n; > > *m += 10; > >} > > > >main() > >{ > > int var = 25; > > int *varp; > > varp = &var; > > funca(varp); > > *varp += 10; > > funcb(varp); > > printf("%d...%d",var,*varp); > >} > >3. > >main() > >{ > >static int *p = 100; > >char *q = p; > >p++; > >q++; > >printf("%d...%d",p,q); > >} > >/* don't run it. Its a Java program */ > >/* find the error if any */ > >class A > >{ > > static final int var = 10; > > private : > > int obj1; > > public : > > char obj2[]="some string"; > > func() > > { > > var = 15; > > system.out.obj1; > > system.out.obj2; > > } > >} > >choices: > >1) There is no semicolon at the end of the class > >2) The variable var cann't be changed after declaration > >3) Class A has not been declared as of public type > >4) string can not be printed directly > >ans: ? > >5. > >/*/* don't run it. Its a Java program */ > >/* find the error if any */ > >class A > >{ > > static final int var = 10; > > private : > > int obj1; > > public : > > char obj2[]="some string"; > > func() > > { > > var = 15; > > system.out.obj1; > > system.out.obj2; > > } > >} > >choices: > >1) There is no semicolon at the end of the class > >2) The variable var cann't be changed after declaration > >3) Class A has not been declared as of public type > >4) string can not be printed directly > >ans: ? > >5. > >/*/* don't run it. Its a Java program */ > >/* find the error if any */ > >class A > >{ > > static final int var = 10; > > private : > > int obj1; > > public : > > >1. 5,5,,13,13,21,21 Ans: 29 > > > >2.0,7,26,63,124, Ans: 215 i.e.n**3-1 rule following > > > >3. 1,3,5,7, Ans: 9 '1' is not a prime number > > > >4. If a person walks at 4/5th of his usual spee he reaches 40min late. If > >he walks athis usual speed how much time does he travels. > > > >Ans:160min or 2hr 40min > > > >5. Two trains A&B start at opposite points 120km at 60kmph. A fly > >starting along with train A at 120kmph reaches B then returns back to > >touch and continue. By the time two trains meet howmuch distance the fly > >would have travelled? > > > >Ans : By 1hour both trains meet, so the distance travel by fly in 1hr is > >120km. > >6.In a class 80% have passed english,70% passed Hindi 10% didnot passed > >either. If 144 students passed both. What is the total strength of the class. > > > >Ans: 240 > > > >. Find the least number when divided by 7 gives the reminder 6, when > >divided by 6 gives reminder 5, when divided by 5 gives reminder 4 and so > >on.... > >Ans: 419 > > > >8. If a man stands in front of sun what is the first letter of the > >direction which is left to him: > > > >Ans: North(N) > > > >9.A square is to circle what is cube to > > > >Ans: sphere > > > >10. Synonyms > > > > i) Joy = gay > > > > ii) Inert = Inactive > >11.One wordswill begiven find oddman out: Ans:sickle like that > > a) sow b) cut c) d) sickel > > > >12. If I bought a cycle before 2days of my birthday and I broke it after > >3 days of my birthday the day I broke is Mar2, 1956? Answer following > >logical questions? > >i) when is his birthday? > >Ans: April,28 (due to leap year i.e.1956) but do not keep answer > >blindly we just think before choosing answer Iam just giving ideaof question > > > >13. > > Monday > > Aug25, 96 > > > >Mr A, > > You forgott your umbrella during the party on last friday.I > >expected you to collect it on your visit on wednesday,I plan to leave on > >this Friday. > > > >Questions: when A missed umbrella? > >When A is supposed to collect it? > > > >When K leaves? > > > >Hint: These dates i.e. Aug 25 is not exactly given in test, but Iam > >giving feel of that question.If you solve this question you can solve it > >easily in exam. > > > >14.What is my father's sons son to my son? > > > >Ans: cousin brother > > > >15.On cutting which solid parabola would be generated Ans: cone > > > >16. Eulers formula: Ans: F+V-E =2; > > > >F= faces;V= vertices;E = number of edges > > > >17. Newton Rapson method is to find Ans:to find the root of f(x) = 0; > > > >18. How many tangents can be dran within three circles if they donot lie > >within each other > >Ans : 12 But this answer is not there I kept 8 as answer > > > > > >19. In language the fortran which is true. A) fortran uses call by value > > > >20. When a program is compiled what it produces > > > >Ans:source code to object code > > > >21. In the following venn diagram shaded region is represented by some > >question like that I can't draw figure here thats why Iam sendinganswer only > > > >Ans: (B-A)' i.e. (B-A) whole dash > > > > > >22. xy-x+2y = 6 equation is shifted to form equation xy=c what is c? > > > >Ans : 4 > > > >23.When x is real what is the least value of (x**2-6*x+5)/(x**2+2*x+1) > > > >Ans:-1/3 > > > >24.When an object like cube or sphere is seen along x,y,z,axes we get the > >same.Apart from these suggest another which has similar characteristics? > > > >Ans:you have to draw the figure Ans: is triangular prism you draw > >triangular prism. > > > >25. When an object is seen from front side we can see two concentric > >squares and topview also without any hidden lines. Draw the side view. > > > >Ans: I know ans but I canot draw. > > > >26. Convert 251 decimal to base 8(i.e. octal)? > > > >Ans: similar question but for this question answer is 373 > > > >27. How much information can be solved in 1 byte of a IBM pc compatible? > > > >Ans: 256 > > > >28.What is the language used for Artificial Intelligence Ans: lisp > > > >29. Swap two variables without using temporary variable > > > >Ans: a= a+b; > > b= a-b; > > a= a-b: > > > >30.Which is not the operating system ?Ans: BIOS > > > >31. What is the optimum number of operations for 2*(x**3)+3*(x**2)+5*x+5? > > > >Ans: three multiplications, three additions. > > > >32. A=> Bmeans > >Ans: if A is true B has to be true > > > >33.If A is not invertible and BA = I is not possible > > > >Ans: Determinant is Zero. > > > >34, What is FREE BoDY Diagram > > > >Ans: Used for analysing FEM. > > > >35. A die is thrown twice what is the probability that you get same number > > > >Ans:11/36. > > > > > > TATA INFOTECH > > ************* > > > > > > > > > >VERBAL > > > >1.Depreciation: deflation, depression, devaluation, fall, slump > > > >2.Depricate : feel and express disapproval, > >3. incentive : thing one encourages one to do (stimulus) > > > >4. Echelon : level of authority or responsibility' > > > >5. Innovation : make changes or introduce new things > > > >6. Intermittent : externally stopping and then starting > > > >7. Detrimental: harmful > > > >8. Conciliation : make less angry or more friendly > > > >9. orthodox: conventional or traditional, superstitious > > > >10. fallible : liable to error > > > >11. volatile : ever changing > > > >12. manifest: clear and obvious > > > >13.connotation : suggest or implied meaning of expression > > > >14. Reciprocal: reverse or opposite > > > >15. Agrarian : related to agriculture > > > >16. vacillate : undecided or dilemma > > > >17. expedient : fitting proper, desirable > > > >18. simulate : produce artificially resembling an existing one. > > > >19. access : to approah > > > >20. compensation: salary > > > >21. Truncate : shorten by cutting > > > >22. adherence : stick > > > >23. Heterogenous: non similar things > > > >24. surplus : excessive > > > >25. Assess : determine the amount or value > > > >26.Congnizance : knowledge > > > >27. retrospective : review > > > >28.naive : innocent,rustic > > > >29. equivocate : tallying on both sides, lie, mislead > > > >30. Postulate : frame a theory > > > >31. latent : dormant, secret > > > >32. fluctuation : wavering, > > > >33. eliminate : to reduce > > > >34. Affinity : strong liking > > > >35. expedite : hasten > > > >36. console : to show sympathy > > > >37. adversary : opposition > > > >3. affable : lovable or approachable > > > >39. Decomposition : rotten > > > >40 agregious : apart from the crowd, especially bad > > > >41. conglomaration: group, collection > > > >4. aberration: deviation > > > >43. aurgury : prediction > > > >44. crediability : ability to common belief, quality of being credible > > > >45.coincident: incidentally > > > >46.Constituent : accompanying > > > >47. Differential : having or showing or making use of > > > >48. Litigation : engaging in a law suit > > > >49.Maratorium: legally or offficiallly determined period of dealy before > >fulfillment of the agreement of paying of debts. > > > >50. negotiate : discuss or bargain > > > >51. preparation : act of preparing > > > >52. Preponderant : superiority of power or quality > > > >53. relevance : quality of being relevant > > > >54. apparatus : applianes > >55. Ignorance : blindness, in experience > > > >56. obsession: complex enthusiasm > >57. precipitate : speed,active > > > >Section III > > > >Letter Series > > > >These are too tough. Maintain time 26 questions ----- 10min > > > > > >1. A C BDEFGI - I H K J L ANS: H > > > >2. AIZBEYCIXDI - GENJW ANS;W > > > >3. ADGJMP - RWTS ANS; S > > > >4. ABCEFGIJK - MLONP ANS; M nOTE: MLONP ARE GIVEN OPTIONS > > > >5. ABFGKLPQ - TSVUW ANS;U > > > >6 JWXUVST - QPSET ANS; Q > > > >7. ARHXYTDTWST - NPTKR ANS; P > > > >8.FMBIPZVIEV - IRYOU > > > >9. NZI YCX KWF - JFVMY ANS;V > > > >10. AASASPASPKA - RQTSU ANS;S > > > >11. AECPS - TRUE ANS;U > > > >12. BBPRDDLNFFIK - HQJIK ANS'H > > > >13 AZEXIVMT - RQNSO ANS: Q > > > >14. ABDGKP - LIWUX ANS:U > > > >15. BCDAEGHIFJLMN LKNMO ANS: K > > > >16. XWEFGVUHIJK - PNSRT ANS: T > > > >17. ODJTOPQNOERT - QOUVW ANS;O > > > >18. PRNUUPEJRBB - HVUNE ANS: E > > > >19.LULMGMNFNPS - ONQPS ANS:P > > > >QUESTIONS ARE NOT IN SEQUENCE. > > > > > >NUMERICAL > > > >1.420% OF 7.79 = 32.718 > > > >2 3427 / 16.53 = 202 > > > >3. 10995 /95 = 115.7365 > > > >4. 43+557-247 =353 > > > >5. 3107*3.082= 9591 > > > >6. 48.7 + 24.9 - 8.7 = 64.90 > > > >7.525.0/47.8 = 11 > >8. (135-30-14)*7 - 6 +2 = 3 > >9.3/8 * 5.04=1.89 > > > >10.697 /219 =3.18 > > > >11.8/64 +64/16 = 4.14 > >12.298*312/208 = 453.54 > >13. 0.33 *1496 /13 = 37.98 > > > >14.0.26 + 1/8 = 0.385 > > > >15.66.17+1/3= 67.03 > > > >16. 2.84+1/4= 3.09 > > > >17. 33% OF 450 = 148.5 > > > >18. 907.54 / 0,3073= 3002 > > > >19.tHERE ARE two categories of persons in ratio A, b i.e.A:B = 2:3 A type > >earns 2.5 dollars/hr and B type 1 dollar/hr total money earnedby both is > >24dollars. then total number of persons > > > >Ans: 15 > > > >20.Question not clear > > > >Slowing running - n hours - A > > > >Medium running - B > > > >fast running - k hours - c > > > >Ans: nA+kC > > > >21. Tottal balls z,red balls N remaining are blak balls,then %of black > >balls equal to Ans: z-n/z*100 > > > >22. Multiplication three digits and two digits number will result the > > > >Ans: HInt: four digit number first number must be one. > > > >23. A= C;B=2D what should be do to make the ratio same. i.e.a/b = c/d > > > >Ans: multiply A by 2 > > > >24. P- Total number of compoentns > > > >Q= defective number of compoentns > > > >%of non defective equals to p-q/p*100 > > > >25. Cost of article x,first discount is y% of cost, seconddiscount is z% > >of cost . The price of x is > > > >Ans: x(1-y/100)(1-z/100) > > > >26.Prime number a) 119 b) 115 c) 127 d) none Ans: C > > > >27. A/B = C;C>D then > > > >Ans:A is always greater than D > > > >28.B>Cand A<Cwhich of the following is larger > > > >Ans: (A+B)C > > > >29. H hours - S salary; xhours - Medical leave, then salary/hr = ? > > > >Ans: s/H-x > > > >30.(1/6of 596) /(0.695) = 142 > > > >31.All dogs are cats > > > >All rats are dogs > > > >Ans:all rats are cats > > > >32.35-30+4/7-5+1 = ? > > > >Ans: 3 > > > >33.10995 + 95 = ? > >Ans: 11090 > > > >34.Salary 'S' per month,1 type of tax is xRs. second type of tax is y Rs > >then % of take home. > > > >Ans: s-(x+y)/s * 100 > > > >35.All physicians are browns > > > >All balancians are physicians > > > >Ans: not know. > > > >36. B>A then which expression will be highest value > > > >Ans: AB > > > >37. K,L -- Men ;X, Y -> Ans:kX + Ly > > > >38. If A,B are same number, which one of the following doesnot satisfy > >this Ans: A*B/B**2 > > > >39. X- bulbs'; y - broken; % of non broken bulbs Ans: x-y/x*100 > > > >40. Adding X, Y to A equals to Ans: a (large expression) > > > >41.Salary s permonth, tax x% of the salry, r% of salary is deducted what > >is the income. > > > >Ans: s*(1-(x+R)/100 > > > >42. Add three digits and two digits numbers the first digit is > > > >Ans:1 (four digit number starting with one) > > > >43. 0.512 * large number = ? > > > >Ans:divide the given number by 2 > > > >44.In 10% balls 5 are defective, % of defective > > > >Ans:50% > > > >45.6.29% of 2.8 = 0.18 > > > >46.0.398*456=181.49 > > > >47.0 < x<1 which is greater > > > >a) 1/x**2 b) 1/x c) x d) x**2 > > > >Ans: a > > > >48.c = a/b; a-1 = c, what is the relation between a and b > > > >Ans: b = a/a-1 > > > >49.The sum of 7 consecutive odd numbers interms with 27 asfourth number > > > >Ans:189 (question not clear) > > > >Verbal time is enough. But for numerical and letter series,timeis not > >enough. > > > > > >So here Iam giving flow chart answersin sequence. Th > > >______________________________________________________ >Get Your Private, Free Email at http://www.hotmail.com ______________________________________________________ Get Your Private, Free Email at http://www.hotmail.com





